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TRFUT 12000 FET[E] 12000
FH & 12000 SRR 6000
B 6000 ! 10000
22 12000 s S i 10000
=HELT 12000 MR 10000
iizli=Uica 12000 S 10000
Ea eSS 6000 PN T=S 10000
=R 12000 T - BR 12000
Y NES = 6000 R EEHE 10000
SRV 5000 B ATk 12000
= 5000 =R 10000
SRy 12000 HEE 12000
EERRES 5000 B 10000
FRIET 12000 Y 10000
FEZE 12000 N 12000
B 6000 NS 12000
=HE 6000 Beki -1 10000
yR4R = 6000 PR 12000
FE=CHL 6000 HERE 10000
BT i 5000 yRIH 12000
KT 5000 Bh{EEE 10000
PR 12000 & 10000
ek - 5000 50 A 12000
T 12000 FER 12000
SEEZE 12000 Bk BT 10000
SRR 12000 I 10000
FREERR 12000 e 12000
FHHENX 12000 EECEH 10000
MR 12000 S EERE 10000
AT 12000 SiEE 12000
== 12000 FEA 12000
FELE 12000 = 6000
MRER4T 10000 A& 12000
HYrs 10000 RS 12000
fif 2755 12000 FETR 10000
NS LN 12000 HRELT 10000
BRAT 12000 Bk ek 5000
= 10000 I 6000
T 10000 AR 12000
E 10000 o AT 6000
BT 10000 eI 12000
- 10000 Bk L& 12000
EEAE 10000 SR 12000
e 12000 EE 6000




BT 12000 o= 6000
o T 12000 MRZTT 5000
TREEL 10000 MR 5000
MREG 10000 TR 6000
BER 10000 AL 5000
i N ] % 10000 2 S 5000
MTE 10000 =R 6000
e 10000 B 5000
RS 12000 S 5000
FRIEZE 10000 (v 6000
i 5000 B 5000
e 5000 P EZ e 5000
FANIoy R 10000 TRETE 6000
ST 5000 AR 6000
ek B 10000 F3=] 6000
R 10000 BT 6000
ok B 10000 PEETH 5000
ftIEE 10000 B 6000
o4 10000 =Y 6000
EEE] 10000 FHBHE 6000
R i 10000 BRI 6000
ST 12000 IV 5000
i 12000 MREELF 5000
KT 12000 i3 5000
MR 12000 AR 5000
FEE55H 12000 sRFEI 6000
P il 6000 MR 5000
AT 12000 HELLE 5000
BT T 12000 =5 6000
) 12000 PR 6000
AR 12000 FHIE 728 6000
ST 12000 FEEERK 6000
FHHsHT 12000 KEH 5000
YN 12000 R4 R 6000
TREKER 12000 i JE 5000
EAM=N) 12000 e = 5000
I 12000 B2 5000
EEW 12000 ek RS 6000
IEIEAR 12000 B EE 5000
5RIE 12000 MEEE 6000
$EIEFH 12000 A7 R 6000
EEleil 12000 VN 5000
iR 6000 TR 6000
TLEZE 6000 SR oS 5000
59 F7 6000 MoK g 6000
BHEELR 6000
BEZE 6000
i pR 6000
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Sl cE i SRR
10000 HEFE 10000
10000 TREEE 10000
10000 KT 10000



